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JANGAN BUKA KERTAS SOALAN INI SEHINGGA DIBERITAHU

I This question paper consists of 40 questions.
Kertas soalan ini mengandungi 40 soalan.

2. Answer all questions.

Jawab semua soalan.

3. Each question is followed by four alternative answers A,B,C or D. For each question,
choose one answer only. Blacken your answer on the objective answer sheet
provided.

Setiap soalan diikuti oleh empat pilihan jawapan, iaitu, A,B,C or D. Bagi
setiap soalan, pilih satu jawapan sahaja. Hitamkan jawapan anda pada kertas
Jawapan objektif vang disediakan.

4. If you wish to change your answer, erase the blackened mark that you have made.
Then blacken the new answer.

Jika anda hendak menukar jawapan, padamkan tanda yang telah dibuat. Kemudian
hitamkan jawapan yang baharu.

5. The diagrams in the questions provided are not drawn to scale unless stated.

Rajah yang mengiringi soalan tidak ditulis mengikut skala kecuali dinyatakan.

6. You may do your working in the spaces on the question paper.

Anda boleh membuat kerja mengira di ruang kosong di dalam kertas soalan ini.
Kertas soalan ini mengandungi 20 halaman bercetak
025/1 Lihat sebelah
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Which of the following represents 5%

THBAMAE 5—:15 5752

A 5 000 500
B 5 005 000
C 5050 000
D 5500 000

Diagram 1 shows a number card.

1 ZR—-K%AF,

2 543.025

Diagram 1

M1

What is the place value of the underline digit ?

ERXFENSHUERSD?

A Hundredths
Ba{u

B Thousandths
Fo{u

C Hundred
B

D Thousand
Fi

6540000 ~6=

A 1.9 million
1.9B7

B 1.09 million
1.09BA

C 1.009 million
1.009B 7

D 0.19 million
01987
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4125+25x9=
A 1 405
B 1425
C 1 445
D 1485

Which of the following is a correct conversion?

THBASRNRER?

A 7.05 a.m. = 1905 hours

7.05am. =19058¢

B 10.25 a.m, = 2225 hours
1025 am. = 22258}

C 6.40 p.m. = 0640 hours
6.40 p.m. = 06408}

D 12.55 p.m. = 1255 hours
12.25 p.m. = 12258

Which value i1s smallest?

TR E /N2
A 72
9
B 7.
12
c 73
5
p 72
12
4l .5 1.
26 3
A 2l
3
B 2l
5
c 11
3
D 11
5
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3

What number must be written in the [___:l above ?

£ |l emmtamEr

A 92
3
B. 92
8
c. 4
3
D. 42
8

12432412
6 3 4
A 51

4
B 5-1-

2
c 6L

12
D 6

4
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Diagram 2 consists of squares of equal size.

M2 RBHR—EREXPESFFEERN.

Diagram 2
2
State the mixed number of the shaded region.

BHARBS S2ENFD K.

A 3 -

1
3
B 3.
2

Diagram 3 shows a number line.
E3 RR—%¥EL,
]

»

Ni'_' e
&Iw ——

Diagram 3

B3
The value of X 1s

BEHXNE.

A

) ov)
W [F%) W
00w 00— S|— N|—

)
w

v
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12. 3536 — 9.67-6 =

A 43.87
B 4333
C 3793
D 37.07

13. What s the product of 4-65 and 13 ?

465 13 NRESD?
A 60.45

B 60-045

C 645

D 6045

14. 112 + 17:075 - 514 =

A 27-071
B 23-415
C 23-135
D 12-047

15.  Round off RM 657.45 to the nearest ringgit.
18RM 657.45 BRI T E RIELUE,

RM 650
RM 657
RM 658
RM 660

oow»

16. o6¢€-2-¢=

A 4 600 mé
B 4 400 mé
C 3 600 mé
D 3400 mt

025/1 6
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17.  RM150 - RM1.40 +305sen =

A RM 595.00
B RM 315.00
C RM 151.65
D RM 148.60

18 Which of the following is the correct conversion?

THRAARN 2 ERN?
A 903km =9km3m
B 93 km = 9km30m
C 903 km = 9km300m
D 93 km =9km300m

19 The sale price of 16 cameras is RM8 000. The benefit of the cameras is RM2 000.
How much is the cost price of a camera?

16 REAHVLAYEM RRMS 000. HE&FF A RABHUE PF @60 RBRRM2000.

—RRBNHRERZD?
A RM375
B RMS500
C  RM625
D  RM640

20 75% of Skgd40g=

5kg40 g M970% =
A 1680 g
B 3780 g
C 4050 g
D 5475 g

025/1 7
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Diagram 4 consists of squares of equal size.

B4 RE—-EREXNNIESFERKN,

Calculate the percentage of the shaded region
HTHARES S£ENES L.

A

B
C
D

Fedrick’s age is 48 years 2 months old. His wife is % year less than him.

His son, Douglas is 7 % years old.

What is the age difference between the mother and his son?

Diagram 4
B4

16
18
30
45

025/1

SEMRE 248 F2ME . f&&?xxttﬂb.f}\% £, )L T EREERE 7%30

WBES ) TRERBESLS SO A?

A

B

40 years 3 months
403 1A

40 years 5 months

40¥Ss 1A

41 years 2 months

41%21MH

41 years 4 months
A Fa1B
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Diagram 5 shows the time Hoe starts surfing the internet in the evening.

B 5 BRMIRTE T A7 80 K EER MY 6,

'&,AM"’T"‘“‘*-..\\
S 1 TN
" 10 2"\
_ \
- g ‘> 5‘}
% L 8 - }/
7 5 -
~ -~
\“"-‘.___i_,,f)
Diagram 5
®s

He spends 2 hours 30 minutes surfing the internet and takes a rest
for :lihour before he starts his revision.

At what time he starts his revision?

ﬁﬁﬁwwwoﬁﬁMﬁﬁﬁﬂ,ﬂ¢ﬁEiwﬁ,%Eﬁﬁﬁﬂmﬁo
MEH LRHRTF R S TR

A 2135 hours
213560

B 2115 hours
21150

C 2035 hours

20358¢
D 2015 hours

20156
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24 Diagram 6 shows the position of four places W, X, Y and Z.

BeZrOM AW, X. YRIZHIR.
Y

5.4 km
6.09 km

11.7 km

e
€

Diagram 6
Be

Remy drove from W to Z to attend his course. However, he got lost and went to Y and
had to turned back to Z. What is the total distance in km, he drove ?

CHREENWHAZHE-MSW , BRICKEGHRMERY , BlttbAEKER
®Z,

XM —HIET ZOmiSRE?

18.14

23.25

28.59
58.19

oW

025/1 10



0251
25 Diagram 7 shows the sales price before discount of tie, shirt, trousers and socks. The cost

price of the item is RM300.
M7 ER—%9F,. — M. —SREEN—-ERFHFHOTNSNEK
P& %0 & B3 B A5 RRM300.
RM180 RM200 RM250 RM40
\k-\\\*‘.
\‘\\ ;2
Discount 20% Discount 30% Discount 40%  Discount 50%
#7 20% #7#130% ##0 40% #H 50%
Diagram 7

&7

How much is the total benefit of the money after discount ?

HEFFAITNENYRFANTRERZ D

A RM100
B RM154
C RM200
D RM254

26 Table 1 shows the length of rope needed to tie two parcels, P and Q.
&1 STRESHLINPH QFIBNABAFHNKE.

Parcel Length of rope
SR ATHKE
P 29 m
Q 85 cm
Table 1
&1

Calculate the total length, in ¢m, of rope needed to tie 3 parcels P and 1 parcel Q.
BlemB 84, i1 HiRE3A PR —NMQETENABFNEKE.,

A 955
B 755
C 525
D 325

025/1 11
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Pn. Azlina buys 3.6kg of flour. % of the flour are used to make 2 cakes.

Calculate the mass, in g, of flour needed to make 8 similar cakes.

REME L3 6 kgt R, mmmm%aﬁmﬁmﬁ#o

Blgh 0, it HBA S DI RME MR TR

A 720
B 19540
C 2880
D 3060

Diagram 8 shows the mass of three watermelons.

B ER=EHMNER.

Diagram 8

M8

Calculate the average mass of a watermelon.

[p_ Sl VIR S =) g

A 910g
B 1010g
C1100g
D1110g

12
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Table 2 shows the incomplete bill of items bought by Puan Linda.
®2 ERMBAAN KT TEBNBRWERE.

Quantity Item Price per unit Price
B ¥ L 2]y -5
9 packets Flour
°a 5k,
2 packets Oil
25 - RM3.00 RM6.00
4 tins Milk
4K 4 RMS8.90 RM35.60
TOTAL

The total price of the bill is the same as the price of 7 tins of milk.
What is the price of a packet of flour ?

MMERENETT SRS BN SFARARN,

HERHNENESD?
A RM230

B  RM2380

C  RM20.70

D  RM26.10

Diagram 9 shows the volume of water in three bottles X, Y and Z.

HOER=/TEABX. YHZENKNER,

X Y Diagram 9

2900 mt 1270 m Mo

What is the total amount of water in the three bottles?

EANRB[EBEKKNESRRES
A 43¢
4
B 43¢
5
c 42¢
5
p 4le
2

13
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31 Table 3 shows the characteristic of solid K, L, M and N.

RILDTRUMEK. L. M ANNISE,

Solid Number of | Number of | Number of | Number of
7 4k flat face | Curved face edges vertices
FHNORE SEOKE | DHNNE |TANKE
X 1 1 1 1
L 2 1 2 0
M 3 1 2 0
N 2 0 1 2
Table 3
&3
Which of the following solids is a cylinder?
UTBAM AR EAZE?

TAw»
2 Z R

32 Diagram 10 shows a block of wood.
10 &R— AR

Diagram 10
: m10

The wood is cut into three equal parts.
Calculate the total number of flat faces.

BARRBOE=MEENH D,

ITHPENER.
A 18
B 24
C 30
D 36

025/1 14
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33. Diagram 11 is a bar chart showing the number of workers in four factories, W, X Y and Z.

Bl NEFEETEESRRAEIT W, X. YRZBAIAK.

Number of
workers
ARIAX

3

400

300

200

100

——p  Factories
X Y Z o
Diagram 11

A1

The workers are Malay, Chinese and Indian. 55% of the total workers are Malay, % are

Chinese and the rest are Indians.
How many Indians are there altogether?

LENRATHEGRA, SAFMNEA, RTEMN 5% RBERA ,
ﬁxam&m%  HRMRMEA,

EANABRS D)
A 195
B 325
C 3%
D 715

0251 15
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34,  Diagram 12 shows the percentage of different races of pupils in a class.

B2 NEARETERE REEZTRFEABNE T .

Diagram 12
12

There are 40 pupils in a class.
How many Chinese pupils are there?

EEEHBFOA,
EIAEEFERS DO AN?
A 4

B 8

C 12

D 14

025/1 16
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Table 4 shows the mathematics marks of four pupils.

T4 ERONFENBRFESH.
PUPIL MARKS
& Pk .
Liza
W% 725
Goh 14 marks less than Liza
Fa] % D145
Hema Same marks as Goh
g SRRN oY —#
Kiren
Bt 64%
- Table 4
&4
Calculate the average marks of a pupil.
ITHENFENFESH.
A 4]
B 50
C 63
D 68

17
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36. Diagram 13 is a pictograph showing the sale of sport shoes in four months.

HI REKITREROAMAGEHENHER,
April

mg | & &

P PP P P B
June & &

<A
July
w82 &2 P P
Diagram 13
13

& represents 6 sport shoes
K ke iz 5

What is the difference between the sales in May and the average sales over the

four months?

TANHERSZOMNB N FHEEREES D
A 48

B 36

C 24

D 15

025/1 18
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37 Diagram 14 shows a2 whole jelly in the shape of a cuboid.

14 R —BIRNKFHEIREE.

6 cm
Scm
10 cm
Diagram 14
B 14

—i— of the jelly is eaten.

What is the volume, in cm®, of the jelly that is left?

iﬁﬁﬁﬂ%HﬁTo

R THERENEREZVom’?
A 120

B 180

C 240

D 300

38 Diagram 15 consists of squares of the same size.

B 1SR BERHADNIES AR,

Q7

|

Diagram 15
B15

Calculate the area, in cm?, of the shaded region.

Slem® 24U, it WA RIS NER

A 48
B 72
C 84
D 96

025/1 : 19
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39 Jaja is 12 years old. Juju 1s 10 years 8 months old. ]
How old is Jiji if the average age of the three girls is 11 years 10 months?

MR=F|LZENFIFRE 151013,
ERNFREI2 Y, KRERNFRUAIOFEIMA,
BLAS I RZEZZNFREZD?
A 13 years 4 months

13% 418
B 12 years 10 months

12% 101 A
C 11 years 4 months

117418
D 10 years10 months

10% 1048

40 Diagram 16 shows PQRS is a square and SRT is a straight line.
16 & R—IEFFPQRS . SRTR—%KEL.

P Q
8cm
S R T
Diagram 16
M16

The length of RT is —i— the length of SR.

Calculate the area, in cm?, of the triangle RQT.

RTHEERSRN %

Blem* R &40 it W=AFRQTHIMEM.

A 16

B 24

C 40

D 48

END OF QUESTION PAPER
| &R

02511 20
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